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SEGTIONA . Yo et
Questlon : Study the Survay Map (ICSE 2013) and answer the following questlons
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1) Statethesix ﬂgure grld referenca of

CRYER7: o s Lo ., | %Q)
~'b) Chhatrl wost of Antroll *%;»
)] _.Jdenuﬁ/the dralnage pattem ln 9575 What does it tell you al:r& ecllmata

o -ofthe region? ‘2
i) LDescrlbta the physlcal f eature formed by contours In th% art of the map

L How (s theTeft bank of BaIaram Nadl different | rlght bank? 2
v) - WhatIsDep on the map? T]ne predomlnanc ch agent of eroslon Is -

Indicated by Dep ?2: . - s\ 24

x 'A:."v_f) * identify and daﬂne.

- a) Broken brown Hnaln 9282 Q‘gt\?» JOTARE T
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'b)13rin 5981 - % O\ .
il HowlsBMZZS.adlﬁ’erent éﬁ; g2 - e neimoes
vm) Name the lmpprtnnce nnl as asetuemen‘ - 2 "
‘5) * Cajculate the area In&gs enclosed bythe grlds to the south of the line of
' la;}tude seen int brth. { not numbered) -on the map. - - 2

along tha cart track from the polntwhere the pack
ck meetn 9776 to'the settlamem: of Bantawada. Express
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v)  -Areglonhaving the soil formed due to.the processnf desmca‘llon
Vl) A reg!onaffected by foo in summe[ ‘ )

Vi) Alahabad - e

will) - “Areglon'with dense population ln South Indla
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Question 6

I Blgihow do modern methods of Irrigation store over primitive methods? (2]
Sgb) Stavc two advantages of raln water harvesting. (2]
i5i€) Glve reasopsi- - - b (3]
I} Tube wells result in ground water depletlon. '
() Dﬁp frrigation Is expensiva,
(m) intndation canals are called flood canals
d) Name two states In which well Jreigation Is widely used. How are surface wells

difrerent from perennal canals? * ‘ (3)
Qﬂestﬁm 7 )
» a) Inwhich type of rock Is coal found? How Is it formed? Which: varlely Is
" sbundantly found In idla? - Al %
b) State two uses ofCopper - s %L
c) Give reason Y

0 - Blogas s consldered an Ideal domestic fuel. .
(i} :Solar energy is most widespread non oonventlopal,sdl"’i?:f ;‘:ergy.
" (i) “Aluminiom Is vsed to make utensil and aerop:a'ne; Q' B

d) Howlis Geothenmal energy hamessed? Name two p{) aTsites lnnndla where It
can.be hamnessed? S C'D 3]

Question 8 . ' @
a) Whv k. wheat not Brown fn Kerala an *’a - 8 (2]
b) with _raference to rice cultivation pIUE tha fol!mvlngu : {21

() State one point of drﬂ'ere een! Upland and Lowland rice -

) What Is thie advantag &qu Ving rice In nurseries before itis transplanted?
c Explafnthe ﬁ)llowing N )|

()" Shifting cult
(U Yol eake é&*

m)'ifri:nt"}r s
d) lee rea‘s@ : : 131
FiRpature plucking of colfeé berrles Is harmiul.. :

\lfhllets are called dry crops,

S&w Cotton isa labour Intensive crop.

_ ons

3) How are Industries classifled based on: raw. materlal? Glve one example of each,
{2)
b) Wha!lsthk Impojtanca of the cotton. textlle Industry In Indlan economy? [2)
¢) ‘WhatlsSericultura? Nanie the state which Is the larsest producer of non
mulberry’silk: State one problem of siliclidustry. 3]
. d) With reférence to Tata Irop and Stesl Plaiit answer the following: - 3]
(l) From where does the plant obtaln mal and watersupply
(U) Name two statés from where labour force Is obtzined,
(i) State two trarisportation facllitles connecting the plant.
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Questlon 10

a) WNCP* places are connected by the North South and East West corridor, (2]
b}S tate the objectives of Pawan Hay 'ﬁeﬂwpter services, | [2;
C) W],lCh IS world's h}ghost I'Oad? State two dis &dvant'ayg’” ,
d) ame the following:- CE
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